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NEW QUESTION 36

You create a table function to remove historic records, sum the current total weekly working hours for each employee, and update

the personnel table with the results. The deployment of the table function fails.Which of the following could be a valid reason?

*  Your function includes a TRUNCATE statement.

*  Your function refers to a scalar function.

*  You did NOT define a valid table type.

*  You did not define at least one input parameter.

NEW QUESTION 37

In SAP HANA Cloud, which tasks are handled by the cloud provider?Note: There are 3 correct answers to this question.Sizing,

provisioning, and monitoring the database

*  Tuning the database to run optimally on the underlying operating system, and hardware

*  Managing users, roles, and permissions in the database

*  Backing up the operating system and the database software

*  Installing, configuring, and upgrading the operating system

NEW QUESTION 38

What is generated when you deploy a CUBE calculation view design-time file?Note: There are 2 correct answers to this question.

*  Cached results to improve read performance

*  Metadata to enable consumption by external tools

*  An SQL execution plan

*  A column view in a container

NEW QUESTION 39

You want to join two tables in a calculation view.Why do you use a non-equi join?

*  Join columns have different data types.

*  The number of joined columns is different in each table.

*  Join columns need to be ignored when NOT requested by the query.

*  The join condition is not represented by matching values.

NEW QUESTION 40

Why would an SQL developer work with SQLScript?Note: There are 3 correct answers to this question.

*  To automate the generation of the code

*  To pass parameters from calculation views

*  To exploit additional data types

*  To include ABAP syntax in the code

*  To implement conditional logic

NEW QUESTION 41
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You created a procedure to be consumed in an analytic privilege of the type DYNAMIC, but it isn&#8217;t working as

expected.What could be the reason?Note: There are 2 correct answers to this question.

*  No input parameter is specified

*  You defined more than one output parameter

*  The output parameter is defined as NVARCHAR

*  The procedure is write-enabled

NEW QUESTION 42

Why would you set the &#8220;Ignore multiple outputs for filters&#8221; property in a calculation view?

*  To ensure semantic correctness

*  To hide columns that are not required

*  To avoid duplicate rows in the output

*  To force filters to apply at the lowest node

NEW QUESTION 43

Which components are part of SAP HANA Cloud?Note: There are 2 correct answers to this question.

*  SAP Analytics Cloud

*  Data lake

*  SAP HANA database

*  SAP Enterprise Architecture Designer

NEW QUESTION 44

Which of the following data sources can you include in a graphical calculation view?Note: There are 2 correct answers to this

question.

*  Table function

*  Procedure

*  Scalar function

*  Row table

NEW QUESTION 45

You combine two tables in a join node using multiple columns in each table.Why do you enable the dynamic join option? Note:

There are 2 correct answers to this question.

*  To ensure that the join execution only uses the join columns requested in the query

*  To ensure that the aggregation always happens after the join execution

*  To allow data analysis at different levels of granularity with the same calculation view

*  To force the calculation at the relevant level of granularity, even if this level is not the grouping level defined by the query

NEW QUESTION 46

What is the recommended tool for developing cloud foundry applications?

*  SAP Business Application Studio

*  SAP HANA Cloud Central

*  SAP HANA Web IDE

*  SAP HANA cockpit

NEW QUESTION 47
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In your calculation view, you want to consume a custom data source defined using SQLScript.In which type of object do you write

your code?

*  Scalar function

*  Table function

*  Anonymous block

*  Procedure

NEW QUESTION 48

You combine two customer master data tables with a union node in a calculation view. Both master data tables include the same

customer name.How do you ensure that each customer name appears only once in the results?

*  Define a restricted column in a union node.

*  In the union node, map both source customer name columns to one target column.

*  Add an intersect node above the union node.

*  Include an aggregation node above the union node.

NEW QUESTION 49

Which project structure object corresponds to a unique HDI container?

*  project

*  space

*  src folder

*  database module

NEW QUESTION 50

You implement a referential join between Table A and Table B, but when you query the calculation view, Table B is not pruned.

 

 

What could be the problem?Note: There are 2 correct answers to this question.

*  The Country column is requested.

*  Join cardinality is set :1.

*  The Keep flag is activated for the Customer column.

*  Integrity constraint is set to RIGHT.

NEW QUESTION 51

What are some best practices when developing calculation views? Note: There are 2 correct answers to this question.

*  Model star schemas using a sequence of join nodes.

*  Aggregate at the lowest possible node.

*  Include all data flow logic within one calculation view.
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*  Avoid defining joins on calculated columns.

NEW QUESTION 52

What are some of the typical tasks performed by the SAP HANA Cloud modeler role? Note: There are 2 correct answers to this

question.

*  Create graph workspaces

*  Configure data tiering

*  Develop calculation views

*  Develop SAP Fiori apps

NEW QUESTION 53

You want to create a star schema using a calculation view. The measures are based on columns from two transaction tables.

DIMENSION calculation views provide the attributes.What is the correct approach?

*  Combine the transaction tables using a star join node in a calculation view of type CUBE with star join./Use a join node to join

the DIMENSIONS to the fact table.

*  Combine the transaction tables using an aggregation node in a calculation view of type CUBE with star join./Use a star join node

to join the DIMENSIONS to the fact table.

*  Combine the transaction tables using a join node in a calculation view of type CUBE with star join.Use a star join node to join the

DIMENSIONS to the fact table.

*  Combine the transaction tables using a star join node in a calculation view of type CUBE with star join.Use the same star join

node to connect the DIMENSIONS to the fact table.

NEW QUESTION 54

Which solutions form the SAP Business Technology Platform? Note: There are 2 correct answers to this question.

*  Analytics

*  Intelligent Suite

*  Experience Management

*  Application Development & Integration

NEW QUESTION 55

Which database features are typically NOT required by analytical applications that run on SAP HANA Cloud?Note: There are 2

correct answers to this question.

*  Pre-calculated aggregates

*  Indexes

*  Stored procedures

*  Table partitions
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